
Securing cargo. We invented the concept.

80
30

91
 A

 

D/144-Series
RING

Art.nr 803091



A

B 

BezeichnungDescriptionBenämningArt.nrQTYPos.
RING RECHTSRING RIGHTRING HÖGER80300411
SCHRAUBESCREW M6S M12x30 FZBSkruv M6S M12x30 FZB21108222
SCHEIBEWASHER BRB M12 FZBBricka BRB M12 FZB21190743
STOP MUTTERLOCKING NUT M12 FZBLÅSMUTTER M12 FZB21185724

A

B

Securing cargo. We invented the concept.

80
30

91
 A

 

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Vikt/Weight/Gewicht: 0,65kg

Sida/Page/Seite 2
Teknisk data / Technical details / Technische Daten

Reservdelar / Spare Parts / Ersatzteile

72

79

50
21°

21°

128

1

23480Nm

50 20

242

21
-5

4 
m

m
0°

 -
 4

2°

20

21
-5

4 
m

m
0°

 -
 4

2°

13



Securing cargo. We invented the concept.

80
30

91
 A

 

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

ExTe Certificate No: / ExTe Zertifikat Nr: 
 
The product is tested and designed according to the ExTe test procedure R5-507 
Das Produkt wird nach dem ExTe-Testverfahren R5-507 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
*)Calculated according to the Standard:
    Berechnet nach den Grundsätzen im Standard:
 
    EN 12195-1

    EN 12195-2

    EN 12195-3

    EN 12195-4

    EN-16860

    AS NZS 4380

    VVFS 1999:74

 
It is hereby certified that the above results are in accordance with documented tests and 
calculations carried out at ExTe Fabriks AB, Färila, Sweden.
Es wird hiermit bestätigt, dass die obigen Ergebnisse den dokumentierten Tests und Berechnungen entsprechen, 
die bei ExTe Fabriks AB, Färila, Schweden, durchgeführt wurden

Result
Ergebnisse

Allowable Work Load AWL (daN)*
Zulässige Arbeitslast AWL  (daN)*

Place of tests, Färila, Sweden
Ort der Test, Färila, Sweden

Test report number
Nummer des Testberichtes

803091

4000

2018-12-06

SD-044

Kjell Jonsson     
CEO ExTe Fabriks AB

          daN


